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問題１．

図のように，点Ｏ，Ｐ，Ａ，Ｂ，Ｃ，Ｄを定め，ＣからＯＰに垂線ＣＨを下ろす．

ＯＡ＝ＯＢ＝ＡＢ＝ＢＣ＝ａ

とすると，

π π π
∠ＡＢＯ＝―，∠ＡＢＣ＝―より，∠ＣＢＨ＝―

３ ２ ６

√ √ １￣ ￣３ ３
より，ＢＨ＝ＢＣ・― ＝― ａ，ＣＨ＝―ａ― ―

２ ２ ２

√̄３
∴ＯＨ＝ＯＢ＋ＢＨ＝(１＋ )ａ――

２

直角三角形ＯＣＨにおいて，ＯＣ２＝ＯＨ２＋ＣＨ２

√ ２ １ ２３̄
∴１＝(１＋ )ａ２＋( )ａ２

― ――
２ ２

１ １ ４－２√ (√ －１)２￣ ￣３ ３
∴ａ２＝―――――――― ＝――― ＝２－√ ＝―――― ＝――――――――――――― ――― ￣ ―――― ――――３

３ １ ２＋√ ２￣ ２３
１＋√ ＋―＋―３̄

４ ４

√ －１ √ －√￣ ￣ ￣３ ６ ２
ａ＞０より，ａ＝――― ＝――――・・・（答）――― ―――

√ ２２̄
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問題２．

図のように，点Ｏ，Ｐ，Ｑ，Ａ，Ｂ，Ｃ，Ｄを定め，

ＡＢ＝ＡＱ＝ＢＱ＝ＡＣ＝ａ

とすると，

π π π
∠ＱＡＢ＝―，∠ＢＡＣ＝―より，∠ＣＡＯ＝―

３ ２ ６

√ √￣ ￣３ ３
より，ＯＡ＝ＡＣ・― ＝― ａ― ―

２ ２
√̄３

ＯＱ＝ＱＡ＋ＯＡより，１＝ａ＋― ａ―
２

１ ２
∴ａ＝―――― ＝――― ＝２(２－√ )・・・（答）―――― ――― ３̄

√ ２＋√￣ ￣３ ３
１＋――

２


